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’ .:.__; 5 ' PAPER CODE - 8191 _
MATHEMATICS 12% CLASS - 12019 TIME: 30 MINUTES
GROUP FIRST ORJECTIVE MARKS: 20

NOTE: You'have four choices for each objective type question as A, B, C and D . The choice which
you think is correct , fill that circle in front of that question number Use marker or pen to fill
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utt:lng or filling two or more circles will result in zero mark in that question.

)= — f{x}, then f(x) is called

; (A) 'Lidear function (B) Parametric function (C) Even function (D) Qdd function

lim 1—cos pd
8 =0 1+cospe equals
Ay 1 ®o © -1 D 2

lim f(x)~f(a) equals
X—a x—a

The derivative of e5"* | w.r.t x will be equal to
; (A) gCos X (B) gsinx {C) eSinX ohey (D) esinx oin v

= cosh(2x} equals

(A} 2sinh2x (B) -2sinh2x (C) 2sinh x (D)-2sinh x
Second term in Maclaurin Series expansion of f(x) = e* equals
@1 ®< ©x O %

f\,sz dx; -a<x<a; equals

oos’ (2 +e @ sin? () 4o (© oo’ (5) +e @) ;sin )+

dx equals

1+cosx

Ay cot () +c (B) cot(2) +c (O tan(3) +¢ (Dytan(z) +o¢
2 X X 2

(i3

(14)

(15)

(16)

an

- (8

a9

RN
o '.(A) . ®mi o7 ™ F

{f) (5x*=3x? + 1)dx equals
IOR ® 2 (€0 ©® 3

y==0 then y equals

©nex [ @ —

~distanc-e bemcen two points (3,1} and (k, 2) is ‘1, then value of * k> will be
(A) -3 (B 3 ) 1 ™ 2

Slope — intercept form of line will be

: d}"

@ E4l=1 (B xcosfHysing=p (C) y-yi = mlxx) (D) y=mxe

If the line § + % = | is paraliel to the fine 3x -2y +4 = 0, then value of ‘a* equals |
(A).-2 ®) 2 3 (D) 4

The point of intersection of two linesx -2y +1=0 andx+3y-4=0is
(A)(-1,-1) @) (-1, 1) © (L) O {4,-1)

Feasible region of inequalities is always restricted to the quadrant

(A I (B 1 (© I D)V

The equation of directrix of parabola v? =4ax will be equal to

S (A)y+a=0 (B)y—=a=0 (C) x-a=0 (Dyx+a=0

if the line 6\{+4y+c—0 passes through the centre of circle x* + y* + 2x +3 =0,
then value of *c® willbe

(A) -6 (B} ] (C) -4 (D) 4

The co-ordinates of vertices of hyperbola % - y?z =1 o
(ay. (0, £33 @) (3.0} < *2) (D) (x2.0)

will be

) Thc area of friangle with a and b asits adjacent sxdes equals
,(A)—]axb] @ 2laxp| (© -(axb) ) 2{a xb)

It a and b are (WO nOT ZEras Vectors , then the angle bctwccn a and @ X b equals
in

wi
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MATHEMATICS 12% CLASS - 12019 _ TIME : 2.30 HOURS
GROUP FIRST SUBJECTIVE MARKS : 80
/ SECTION-I
QUESTION NO. 2 Write short answers any Eight (8) questions of the following 16
[ | | Given f(x) =%’ -2 x*+4x -1, find the valueof (1 +x)
2 lim 1-cosf
Evaluate 650 —mne
3 _[x+2, x= -1 . lim
lff(x) {C+2, x> =1 Fid X——1 - fx)
4 |Find £ if y=(3+5) (E4T)

=%

Find & if ¥+ -4x =5
Differentiate (1+x°)" w.rt. x°

5

6
| 7 | Differentiate w. r. tx cos” E
8

9

Define stationary point of a function.

Find X if y= Intaohx
101 Find L it y= Vx+vx

11| pipg 8¥
Find e

12| Findy, if X +y =a’

if y=xcosy

QUESTION NO. 3 Write short answers any Eight (8) questions of the following 16
|1 [Find 6y if y=x"+2x when x changes from2 to 1.8 '
2 | Use differentials ,find the approximate value of Y17
3 | Evaluate [ 34 dx
g i .
.i. s it El‘w}lu‘ite J Vi (VE+L s gaeied]
I's” =
.{Evaluate Ix+2 dx
S ey g¥
; Evg_ﬂﬂate i R
7 3 CoOsx
Evaluate ‘rsinxln sinx
8 pmranTlx
-EY&IU&LE 5 “a—:x—z-)—' dx

9 Writc fundamental theorem of calculus i
10| Evaliate 7, (x* +3x%) dx
11 | Define Problem constraints .

L2' Graph the solution setof 2x+1 =0

QUESTION NO 4 Write short answers any Nine (9) questions of the following 18
1" | Shé'w that for the points A( 3,1}, B(-2,-3) and C(2, 2), {AB| =|B(|
i The length of perpendicular from the origin to a line is 5 units and the inclination of this
. perpcna.icula.r is 120°, Find the slope and y, intercepts of the line.

3 | Find'distance from the point P(6,-1) to the line 6x —4y +9 =0

~| Determine the value of p, such that the lines 2x -3y —-1=0, 3x -y -5=0 and
Jx+py+8 0 are concurrent.

Find an equation of the circle having the join of A(x(, y1) and B(xz ,y2)asa d.lameter

5. |.Find the focus and directrix of the Parabola y* = 8x

5
3
7 | Find eccentricity of the ellipse 4 x* + 9y* =36
8
g9
1
1

£

. Find the points of intersection of the conics x“ +y* =8 andx“ —y* =1 .
| Prove that the vectors -2 + 3k ,~2(+3f-4kand i-3f+ 5k are coplanar.

T
| —

10.{1fig+B+¢& =0. thenprovethat dx b =bx & =Cx d

[
AL "'_C"fs'.l’:culatc the projection of @ along b when &= 3i+7-k, b=—21—f+ & i
12 | Define scalar and vectar praduct af two vectars. i
1_}.1 } Define a unit vector.

)
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Note: A&empt any Three questions from this section ; o0 10x3=3

- Q.5-(A)

B)

; n
Prove that lim (1 + 1) =e
n—=aw n

z

. h h? .,
Show that cos(x +h} = cosx—h sinx - o COSX F o= SIBX + .o

| Also evaluate cos 61°.

Q:6- (A)

@

Xx+a>0
Evaluate IJH +Vx+b  x+b>0

.The pmms A(-1,2y, B (5'3) and C (2,4} are vertices of a triangle'show tﬁat the line joining

midpomt D of AB and midpoint E of AC is parallel to BC and DE = - BC

B)

Q.7-(A) |

Solve the differential equation x dy +y (x-1)dx =0

Graph the feasible region of the system of linear inequalities and find the cotner points
2x -3y €6, 2x+3y<12 xz0, y=0 -

Q.8-(A)

(B)

Find the co-ordinates of the vertices of the triangle formed by the lines:
X -2y-6=0; 3x-y+3=0,; 2x+y-4=0

~'{-Also find measures of the angles of the triangle.

Find equation of the tangent to the circle x> +y* =2 and parallel to the line 3 x +2y =6

Q.9-(A)

®)

Show that the equation 9x* ~ 18 x —4 v*'+ 8y —23 =0 represents an ellipse. Fmd its centre ,

1 foci and eccentricity .

Pioverhazfou:poims A(-3,5-4),B{(-1,1,1),C (-1,2,2)and D(-3,4,-5)are

coplanar.
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PAPER CODE - 8192

S 12" CLASS - 12019
MATHEMATICS - . TIME: 30 MINU'
GROUP SECOND OBJECTIVE, D e

NOTE: You have four choices for each objective type question as A, B, C and D . The choice which
you thmk is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1
¢1) Thearea of a circle of unit radius is nearly

- (A) 3.1 (B) 3.14 (C) 3.142 (D)'i;
@ Mo (- -
@wWe ® = © = ®) :
3. limit  fla+h) —f(a)
? h-=0 h

(&) £(a) ®) fla+h) (© &) O f @
(4 = (anb'x =

(A).Hlxz. ) 1—1 x? *#C) ﬁ (D)ﬁ
(5) The derivgtiveof y =logi w.r.t.x is
Ca i o ®as © F O xha
6) fxy= (1+x%)" , f(0)willbe

(A) 0 (B) n © 1 ©) =
(7 fa"dx = _
Sl @ & (© ke O 0
@) fT, sinx dx =
A0 (B 3 € = o =
© " [Fiedt - -
(A) x¥ —a® (B) ¢ © -2 O 0
(10} The orderof x -327:: + -f:f- —3x=0 is
(A) O (B) -3 < 1 o) 2

(11)  The non-negative constrains are called
(A} Decision Variables (B) Feasible Solution set (C) Optimal Solution {D)Associated Equation

(12) Equation of anon vertical line with slope m and y intercept zero is

(Ayy=x, (B) y = mx (C)y=mx+c (D) y=0
(13) Thelines ax® +2hxy + by?* =0 will be parallel if
(A) W< ab (B) W=uab (C) h*>ab (D)atb=2
(14) ' The éentriod of the triangle A ABC with vertices A(0,0), B(1,0), C(3,4) s
(&) 0.0) ®) (1.1 © @2 ® G35
(15)  The'distance of the line 2x—~S5y+13=0 from the poiat (0,0)is
: 23
@) 13 ® 10 (© 4 o =
(16) : The radius of the circle C+y+4x-6y-3=0
Ay 7 - ®10 € 4 (o) 6
(n x.¥y= 1. represents
(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
(18) A solution of the inequality x +2y <6 15
LAY (1) (B 4.9 <y 6.2) ) (5%
(19) A force T is applied at an angle of measure 1-; with the displacement vector - T . The work done will be
(A) T xt B I < 0 (D) infinite
{207 - fh.c projection of a vector T along 3 is )
&) 7 ®) ol ©3a.b @O 3
118 {Obj)-;12019-60000 : SEQUENCE - 1



Highs L iy *

D&k—&az-tz- l°|

¢ 4 <]

/MAT}IEMAT]CS 12® CLASS - 12019 : 5
GROUP SECOND : SUBJECTIVE ngxlé—’*% é‘IOU RS
SECTION-1 '
QUESTION NO. 2 Write short answers any Eight (8) questions of the folluwmg o 16
| | Define odd and even functions. .
2 | Find £'(x) if Kx)= 3% + 7 '
3 | Evaluate 'm  sinx
— T =X
¢ Find% if y=(vx - |
5 Fi;ldg if xy+y'=2
6 | Differentiate x°sec dx wr.t. “x", i
7 | Find if y = ln(x-—\/;c_f:__}
8 |[Find ypif x'- y¥= a°
9 1 Define stationary point.
{101 Find ¥, if y=tanh' (sinx)
i 11 | Find extreme values for f(x) e )
12 vac lb,at e = 14+2x+ 2— LI by Maclauren Series expansion |
QUESTION NOL "3" Write short answers any Eight (8) questions of the following 16
l | Find dy for yv/x when x changes from 4 to 4.41
2 Using differentials find % for x* + y* = xy?
3 iEvafuate [ -Sceosix
S G 14-cos 2X
; % '_Evalua‘ﬁc Ak @ dy, y=>0
i ..5l g (. sectx
Evaluate [ =
.y [vEvaluate, S x tan®x dx.
"| 7 | Evalvate..f x*Inx dx
8 | Evaluate [ e ™(cosx — sinx) dx
? | Evaluate fon’% secx (sec X+ tanx) dx
10 | Evaluate -1»_11 {x+ %}sz-i-xﬁ-l dx
11 | Define order of a differential equation.
12 Graph thc solutmn set of linear inequality 3x -2y = 6
QU’ES_TION NO 4. Write short answers any Nine (9) questions of the following 18
1 | Show that the lines 2x+y -3 =0 and 4x+ 2y +5 = 0 are parallel.
- 2t Transform the equation 5x — 12 y+39 =0 into normal form.
3.} Check whether the point P(5,-8) lies above or below the line 3x + 7y +15 = 0
4 | Find the distance between the points A (3, 1), B{(-2, -4).
| 5 ¢ | Find the centre and radius of the circle 4x*+ 4)»1 8x +12y-25=0
6. | Find the focus and the vertex of the parabola x =S5y
7 ~{ Eind the point of intersection of the conics X*+y* =8 and x° - Yz =1
.[.8.-1.Find an equation of hyperbola with foci (0. +6),e=2,
.9 | Pind a unit vector in the direction of ¥ =] +2j - }g
10 | Find a vector perpendicularto a= i+ j and b=1i -]
i1 IfU 21-}+kand\f'—-r1+}tbenﬁndUV
12 i Define scalar aiple product.

i13

P U =2i+3j+k , V=4i+6j+2k thenfind |U + 2V |

(P.T.0)



Note: At_’t_e‘fﬁ,pi any Th riele questions from this section

Q.5-(A) |'Find the graphical solution of the equation X = sin 2%

I. (B) |"Show that LA i
dx x

L b

= tant X w0 T
¥

} Q.6-(A) J “Find'. [ VATTRT ax
(B) Th:ee'points A(7,-1),B (-2, 2) and (1,1) are consecutive vertices oﬁﬁaralle_iogram.: -
| Find the fourth vertex .
| Q.7-(A) | Solve the differential equation (y - x %) =20y %)

(B). Graph the feasible region and find the comer points
x+3yS15, 2 +ys<i2, x20, y30

1 éheck-- whéthcr the lines 4x - 3y-8=0;3x-4v-6=0and x

—y=-2=0 are concurrent,
“If'sa:, find the point where they meet

(B} 'F.ir_ld the equations of tangents drawn frem point (0, 5) to the circle Pt Y =16

:Showthat an equation of parabola with focus at (a cos @ , a sin ) and
directrix x cos @ +ysina +a=0 is
(xsina - ycosajz=4a(xcosa+ysina)

(B) | Find area of the triangle with vertices ACL-1,1),B(2,1,-1) and'C (-1, 1,25

iy i 118 (Sub) -12019 -60000




